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nf-1= Clear[A];
K = Knot [8, 2]

our - Knot[8, 2]

In[e]:= t:l—Az; r‘=t+t*;

Inf-J= aps =
Timese@@PD[K] /. x: X[1_, J_, k_, L_] > If[PositiveQ[x], X,[J, kR, -L, =11, X_[-J, ky, L, -1]1]

our- X [-16, 10, 1, ~9] X_[-14, 8, 15, -7] X [-12, 6, 13, -5] X_[-8, 16, 9, —15]
X [-6, 14,7, -13] X [-4, 2, 5, -1] X, [3, 12, -2, -11] X, [11, 4, -10, - 3]

1= soup = Timeseeaps /. (Xp | Xm)[1_, j ,k , L _1=a[i, -L]a[j, -1] a[k, -] a[L, -R]

our - a[-16, 9] a[-15, -9] a[-14, 7] a[-13, -7] a[-12, 5] a[-11, 2] a[-10, 4]
a[- 1] a[-8, 15] a[-7, -15] a[-6, 13] a[-5, -13] a[-4, 1] a[-3, 10] a[-2, -12]
a[- 5]afl, -10] a[2, 4] a[3, 11] a[4, -11] a[5, -2] a[6, 12] a[7, -14] a[8, 14]
a[9, —16] a[1e, 16] a[11, 3] a[12, -3] a[13, -6] a[14, 6] a[15, -8] a[16, 8]

m-j= cs=aps /. _[X]1[1_,J »k , L 1=>a[il, -L]a[j, -1] a[k, -j]la[l, -R] //.
al[i_,x___,J lalj ,y __,k 1w=al[i, x, 3, Y, R]

ou-- a[-16, 9, -16] a[-14, 7, -14] a[-8, 15, -8] a[-6, 13, -6]
a[3, 11, 3] a[1, -10, -4, 1] a[4, -11, 2, 4] a[5, -2, -12, 5]
a[-1, -5, -13, -7, -15, -9, -1] a[-3, 10, 16, 8, 14, 6, 12, -3]

m-1= A = Table[@, Length@cs, Length@cs]

Outf«]= {{QJ @, 0) @, @, 0) @) 0) e) @}, {QJ @, 0) @, e: 0) @, @, 0) @}:
{6,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0,0,0, 0},
{0,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0, 0,0, 0},
{0,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0,0,0, 0}}
Infe]:= DO[
is = Position[cs, #][1, 1] & /@ Listee x;
A[is, is] += If[Head[x] === Xp,
e t* o -t* r -t -2t t*
t -r -t* 2t* -t* o t* 0
e -t o t |’[-2t t r -t
-t 2t t* -r t (2 -t (2]
]
{x, aps}

]
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Inf~]:= A

ourj= {{4-22%-2Conjugate[2]?, @, -2 (1-2*), @, 8, -2 (1-Conjugate[A]?), @, @, O, 0}
{@, 4-22%-2Conjugate[1]?, -2 (1-Conjugate[1]?), -2 (1-1%*), @, @, 0, 0, O, 0}
{-2 (1-cOnjugatem2) , -2 (1-2%),4-22*-2Conjugate[2]%, @, @, @, 0, 6, 0, O},
(e, (1-Conjugate[1]?), @, 4-22%-2Conjugate[1]?, @, 8,0, -2 (1-2%), o, @}
{0,0,0,0,0,0,0,0,0,0}, {-2 (1-2%),0,0,0,0,4-22%-2Conjugate[1]?,
-2+22%, -2 (1-Conjugate[1]?), @, 2-22%}, {0, @, @, @, 8, -2+ 2 Conjugate[2]?
-4+22%+2Conjugate[1]?, 2-2Conjugate[1]?, @, 2 (1-2%) +2 (1-Conjugate[A]?)},
{e, 0,0, -2 (1-Conjugate[]?), @, -2 (1-2%),2-22% 4-22%-2Conjugate[1]?,
@, -2+22%}, {0, 0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,2-2Conjugate[1]?
2 (1-x%*)+2 (1-Conjugate[1]?), -2+2Conjugate[1]?, @, -4 +22%+2Conjugate[1]?}}

n-1= Plot[MatrixSignature[A /. A e**], (t, @, n}]

4

Out[+]= 2
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Infe]:= Bed[K , 1] := Module[{t, r, aps, cs, a, A, is},

t=1-212; r=t+t¥

aps = Times @@PD[K] /.
x:X[1_,J ,k , L 1> If[PositiveQ[x], X,[J, k, -L, =11, X_[-7, kR, L, =111

cs=aps /. _[X][1_,J ,kR , L ]1>a[il, -L]a[], -1] a[kR, -J] a[l, -R] //.
ali_, x___,Jj_ lalj_,y___,k 1=ali, x, j, ¥, R];

A = Table[@, Lengthecs, Lengthecs];

Do[is = Position[cs, #][1, 1] & /@ Listee x;

A[is, is] += If[Head [x] === X,,
o t* e -t* r -t -2t* t*
t -r -t* 2t* -t* o t* 0
@ -t @ t |’]|-2t t r -t
-t 2t t* -r t (] -t (2]

s
{X, List ee@ aps}] 8

MatrixSignature[A]
s

1= {Xy» X_} // FullForm
out/-jFulForm=- List [SubPlus [X], SubMinus [X] ]

m-1= a.b // FullForm

out/ - J/FulForm= Dot [a, b]
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